
Subtracting: 5-Digit Mixed Review
Part 1: Subtract and check by adding.

33,1 9 2
– 21,0 7 3—————

$994.04
–  461.07—————

$27,9 2 0
–   8,3 3 9—————

1 .

3 .

$835.46
–    74.36—————

62,4 7 1
– 53,8 1 2—————

91,3 4 0
– 39,8 2 5—————

4 .

5 .

2 .

6 .

3 0 0 2 0 5



Part 2: Rewrite each problem vertically and solve. Check by adding.

68,432 -- 29,338 = __________7 .

$22,500 -- $11,199 = _________9 . 76,473 -- 23,821 = __________ 10 .

$866.53 -- $524.77 = _________8 .

3 0 0 2 0 5

Part 3: Solve. Check by adding.

Find the difference between 12,345 and 98,765.

The biggest tennis stadium sits 23,771 people. The biggest 
rugby stadium sits 94,736 people. How many more people 
fit in the rugby stadium?

11 .

12 .

Subtraction Practice



ANSWER KEY

Part 1: Subtract and check by adding.

33,1 9 2
– 21,0 7 3—————

12,1 1 9

12,1 1 9
+ 21,0 7 3—————

33,1 9 2

$761.10
+    74.36—————

$835.46

$994.04
–  461.07—————
$532.97

$27,9 2 0
–   8,3 3 9—————
$19,5 8 1

1 .

3 .

$835.46
–    74.36—————
$761.10

62,4 7 1
– 53,8 1 2—————

8,659

91,3 4 0
– 39,8 2 5—————

51,5 1 5

4 .

5 .

2 .

$19,581
+   8,3 3 9—————

$27,920

51,5 1 5
+ 39,8 2 5—————

91,3 4 0

$532.97
+ 461.07—————
$994.04

8,659
+ 53,8 1 2—————

62,471

6 .

3 0 0 2 0 5

Subtraction Practice



ANSWER KEY

Subtraction Practice
Part 2: Rewrite each problem vertically and solve. Check by adding.

Part 3: Solve. Check by adding.

68,432 -- 29,338 = __________7 .

$22,500 -- $11,199 = _________9 . 76,473 -- 23,821 = __________ 10 .

$866.53 -- $524.77 = _________8 .

Find the difference between 12,345 and 98,765.

The biggest tennis stadium sits 23,771 people. The biggest 
rugby stadium sits 94,736 people. How many more people 
fit in the rugby stadium?

68,4 3 2
– 29,3 3 8—————

39,0 9 4

39,094
+ 29,338—————

68,4 3 2

$341.76
+  524.77—————

$866.53

$866.53
–  524.77—————
$341.76

76,4 7 3
– 23,8 2 1—————

52,6 5 2

52,6 5 2
+ 23,8 2 1—————

76,4 7 3

98,7 6 5
– 12,3 4 5—————

86,4 2 0

86,4 2 0
+ 12,3 4 5—————

98,7 6 5

94,7 3 6
– 23,7 7 1—————

70,9 6 5

70,9 6 5
+ 23,7 7 1—————

94,7 3 6

$11,301
+ 11,199—————

$22,500

$22,500
–  11,199—————

$11,301

39,094

$11,301

86,420

70,965 people

52,652

$341.76

11 .

12 .

3 0 0 2 0 5


